8 7 6 5 4 3 | 1
REVISIONS
[> NOTES ® ] DATE APPROVAL |
[Wioos v 171472081 | TLC
1. STANDARD GLAZING OPTION — .125" WL00S |
MINIMUM DSB GLAZING MEETS UNIFORM STATIC v j4sezz21 1 TLC
DESIGN PRESSURES SHOWN ON THIS DRAWING.
GLAZING SHALL HAVE A MAXIMUM HEIGHT OF
6.70" AND A MAXIMUM LENGTH OF 24.00".
GLAZING IS NOT IMPACT RESISTANT AND DOES
NOT MEET THE REQUIREMENTS FOR 13 GA HORIZ ANG'-E\
WIND—BORNE DEBRIS REGIONS.
2. ALUMINUM FULL VIEW OPTION — ALUMINUM
FULL VIEW SECTION MAY REPLACE ANY € DOOR |
SECTION EXCEPT TOP AND BOTTOM PANELS.
ALUMINUM FULL VIEW SECTION SHALL HAVE 15 GA MIN HORZ —_ |
RALS AND STILES OF EXTRUDED ALUMINUM TRACK 1
ALLOY 6063-T6 WITH A 2—1/4" INTEGRAL FIN 1
AND .125" MINIMUM DSB GLAZING INSTALLED 13 GA CONTINUOUS - 11
WITH ALUMINUM RETAINERS IN ORDER TO WALL ANGLE . S .
MEET UNIFORM STATIC DESIGN PRESSURES H L W » Jy
SHOWN ON THIS DRAWING. AFV PANEL SIZE IS H < 3
47.5"x21.9" (MAX). GLAZING IS NOT IMPACT 15 GA MIN VERT —_ | H i A X
RESISTANT AND DOES NOT MEET THE TRACK . : Lo -
REQUIREMENTS FOR WIND—BORNE DEBRIS H N hd a9
H HP 3
REGIONS. 5/1671—5 /8" — : i
- LAG SCREW AT EACH N H 20 GA CENTER STILE ']
3. MINIMUM OF 1" OVERLAP ON BOTH JAMBS
HOLE LOCATION FOR
REQUIRED TO MEET NEGATIVE DESIGN WOOD SUBSTRATE. SEb a :
PRESSURES. - H
SHEET 3 FOR MOUNTING H "
4. SUDE LOCKS OR OPERATOR REQUIRED. TO OTHER SUBSTRATES. W ~
5. SECTION STEEL TO HAVE THE FOLLOWING 1
MINIMUM THICKNESS: H Ji ty
421, 423 — 20 GA H A
27 4% - 5ol A 17420 mex T "
g NUT AT EACH TRACK H l 9
CLIP LOCATION H—__ /'\ L
6. THE DESIGN OF THE SUPPORTING
STRUCTURAL ELEMENTS SHALL BE THE (SEE DETAIL A SHEET 3) 20 GA WOOD FILLED
RESPONSIBILITY OF THE PROFESSIONAL OF _/ END STILE SHEET 2/ &
RECORD FOR THE BUILDING OR STRUCTURE 11 GA TRACK CLIPS - s
AND IN ACCORDANCE WITH CURRENT BUILDING (WELDED, BOLTED. OR S \,
CODES FOR THE LOADS LISTED ON THIS DD R / Lke
DRAWING. ;
ANGLE) SEE NOTE 7 AND Ji f
7. TRACK CUPS SHALL BE LOCATED WITH DETAIL F SHEET 3 i &
CENTERLINE OF BOTTOM CUP SPACED 10" SUDE LOCK BOTH ENDS— |
MAX FROM BOTTOM OF TRACK AND REMAINING (NOT REQUIRED WITH I
TRACK CLIPS SPACED AT 24" 0.C. MAX. OPERATOR — SEE NOTE 4) % 0
SPACING BETWEEN TOP TRACK CLIP AND 1 i Ad "
SPLICE PLATE SHALL BE 30" O.C. MAX. H H sl
8. WHEN MOUNTING TO WOOD, DOOR JAMB TO H
BE MINIMUM 2x6 STRUCTURAL GRADE LUMBER. ”
REFER TO JAMB CONNECTION SUPPLEMENT H
FOR ATTACHMENT TO SUPPORTING " L
STRUCTURE. =
1. <
K
NOTE:  (4) SECTION SOLID DOOR . Lo
SHOWN, SEE SHEET 2 FOR U—BAR H hd o |
LOCATIONS ON DOORS WTH OTHER H )
ECTION QUAN AND SEE NOTES 1 A ‘
SUPERIMPOSED DESIGN PRESSURE & 2 THIS SHEET FOR GLAZING /ED .
LOADS ON SUPPORTING STRUCTURE OPTIONS. 1 | W H °
MAX | DOOR | MAX UNIFORM LOAD EACH JAMB |
DOOR | eyt
WDTH
182" AL +163.3/-183.5

STATIC PRESSURE RATINGS APPROVED SIZES

DESIGN PRESSURE(PSF): +20.2/—22.7 |MAX WIDTH: 16 -2

MAX HEIGHT: 24'—1"

IMPACT/CYCLIC RATED: NO

MAX SECTION HEIGHT: 24]

\\\\\
v‘e

b0

1 174
WS-, 133

8 7 |

“
‘ M TYT LA

‘\\ S/ONAL

s

Oxz: LICENSED

oF TE*\\ ohn

-._VQQJkeI

/ :
g J. C. VOELKEL

.-n.---no.-annouonninconoool

Digitally signed
by John
istian Christian Voelkel
Date: 2021.05.03
10:31:14 -05'00'

THE DOORS ARE DESIGNED AND MANUFACTURED TO COMPLY WITH THE 2018 IRC AND THE 2018 IBC.

’ TIE TRAVIGS D L TTHER TNFDRWATION HEREIN ARE THE FRORIETARY PROPERTY OF DVERVEAD TOIR CORPORATION AND TTS FTLIATED CRPANIES,
D DTN I6 HLE DR T AT NAY-NET- B COPLED. 14 AN WANER. DR TLSCLOSED 10 shYENE, UATHELT THE PRIDR. VRTT T CONGEMT. (E IR CORPIRATION 6 DISCLONRE D
, AIIVD’TIHSMVMEIR]II-‘MDI]SNTDMDTD[PERATEASALMISE[RMHH[RIZATWNTDUSEHFIRMNHIPBIV‘IHI‘.II‘I’THESPEUF'CVRI.‘I‘I‘BI OF OVERHEAD DOOR CORPORATION.
IS SN Rt SrOurE FINISH [ e tematoe. e ciriginat AT DRAVNG TITLD
VHILE N/A | s [ES 421/423/427/429/434/436,
4 RDER 230 04/~ NUMBERS & 25 "' CLark | 114721 27/425/4 ,
b1 0500 +006/-003 | ' Y omor = o 2/-22.7 PSF, 16'-2° MAX
YALI00 KD YIAS I'.lVER 500 +008/-.003 XX + 03 | MEASURE J QIAN 1/14/21 TG
E) Mreens XXX £ 010 N/A WPROVED BV S2°D- 411798
REF DWG USED ON % 1116 ANGLES: £ 5° €A T CLARK 4/27/21 |sows N/A | sexr] of 3


chris
Texas


-

1/4-20x9/16" TRACK BOLT
AND 1/4—20 HEX NUT

THROUGH THE SLOT IN THE
TRACK AND TRACK CLIP:

12 GA COMMERCIAL TOP FRAME
BRACKET WITH 13 GA ROLLER
CARRIER, ATTACHED WITH (4)
1/4—14x7/8" SELF DRILLING
CRIMPTITE’ SCREWS

3" STEEL ROLLER WITH 7/16" DIA.
x 9" LONG STEM AND 7/16"
PUSH NUT AT TOP ROLLER
LOCATION. 1/4" MAX BETWEEN
PUSH NUT AND BRACKET.

ADD (2) 1/4-14x7/8" SELF
DRILLING CRIMPTITE SCREWS
(INSIDE OF EACH INSIDE END HINGE,

2" STEEL ROLLER WITH
5-1/8" STEM AND 7/16"
PUSHNUT AT EACH ROLLER

LOCATION. 1/4" MAX
BETWEEN PUSHNUT AND
BRACKET OR HINGE

14 GA WIDE BODY END
HINGE TO ATTACH SECTIONS
ONE AND TWO.

13 GA WIDE BODY END
HINGE TO ATTACH
REMAINING SECTIONS. FOR
ALL, ATTACH WITH (4)
1/4—14x7/8" SELF DRILLING
CRIMPTITE SCREWS

14 GA WIDE BODY
INTERMEDIATE HINGE
ATTACHED WITH (4)
1/4—14x7 /8" SELF
DRILLING CRIMPTITE
SCRE

12 GA BOTTOM BRACKET
ATTACHED WITH (3)
1/4—14x7/8" SELF DRILLING
CRIMPTITE SCREWS (2 THROUGH
STRUT AND BRACKET)

STATIC PRESSURE RATINGS

APPROVED SIZES

DESIGN PRESSURE(PSF): +20.2/-22.7

MAX WIDTH: 16'-2"
MAX HEIGHT: 24'—1"

IMPACT/CYCLIC RATED: NO

MAX SECTION HEIGHT: 241

1O
7 — W

NNy
}gOFT

133174

¥
"-.4@‘

S
. *

)

.*'

J. C. VOELKEL

¢

(2) 1/4—14x7/8" SELF DRILLING
CRIMPTITE SCREWS

HALF HINGE
gz) 1/4 x 1/2"

ARRIAGE BOLTS AND
1/4" FLANGE NUTS

(12) SECTION DOORS WITH
(24) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(11) SECTION DOORS WITH
(22) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(10) SECTION DOORS WITH
(20) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(9) SECTION DOORS WITH
(18) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(8) SECTION DOORS WTH
(16) 3° 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(7) SECTION DOORS WITH
(14) 3“ 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

6) SECTION DOORS WITH
20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(¢
(12) 3

(5) SECTION DOORS WITH
(10) 3" 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

(4) SECTION DOORS WITH
(8) 3° 20 GA 80 KSI U-BARS
LOCATED AS SHOWN

ATTACH U-BARS WITH

2) 1/4—14x7/8" SELF
DRILLING CRIMPTITE SCREWS
AT ALL STILE LOCATIONS, TYP.

THE DRAVINGS AND ALL DTHER INFDRMATION CONTAINED HEREIN ARE THE
INFORMATION, IN VHOLE DR

AND PROPRIET/
AND IN PART, MAY
ANY DF THIS DRAVING DR \TIDN IS

ARY PROPERTY DF OVERHEAD DOOR CORPORATION AND ITS AFFILIA!
NDTDEmcﬂPIEII IN ANY MANNER DR ANYDNE VITHOUT THE PRIDR VRITTEN

Tl CONSENT OF OVERHEAD
DPERATE AS A LICENSE DR AUTHORIZATION TO USE IT FOR ANY PURPOSE VITHOUT THE SPECIFIC WRITTEN

FINISH [ e tiemmine. The Criginat 3 DATE

- . LEVISVLLE,
N7a | G gy RS [y ok [ 1714721

UNIT OF | mmesas SERIAN 1714721

\TED
DOOR CORPORATION. NO_ D)
CONSENT OF OVERHEAD

COMPANIES. THIS DRAVING
ISCLOSURE OF

DOOR CORPORATIDN.
DRAVING TITLD.

[WINDLDAD,OPTION CODE 2041
ES 421/423/427/429/434/436,
2/-28.7 PSF, 16'-2" MAX

N/A

MEASURE
APPROVED BV
T CLARK 4/27/21

B D- 411798

sows— N/7A [se2 o 3

€A
2 I

1



chris
Texas


7 6 S 4 3 e 1
MIN 3/16” THICK RUBBER GASKET
STEEL FOR MOUNTING 1/8" ANNEALED DSB GLASS (MIN)
MOUNTING WALL ANGLE: E£60XX MIN. DLO= 5"X20"
TRACK CLP . OPTIONAL: WALL ANGLE MAY BE ATTACHED TO
1/4—20x9/16 SUPPORTING STEEL WITH MIN. (1) 1/4—20x7/8"
TRACK BOLT AND SELF DRILLNG SCREW WITH 1" 0.D. WASHER AT
1/4-20 HEX NUT EACH HOLE OR PAIR OF HOLE LOCATIONS IN
TRACK LIEU OF WELDING
MOUNTING TO STEEL DETAIL
RUBBER FRAME GASKET
(NON—INSULATED DOORS)
PLASTIC FRAME
1/8" ANNEALED DSB GLASS (MIN)
DLO= 5 3/4"°X22 7/8" MO0D MOUNTING DFTAL — ANGLE OUT
(10) #8X2" SHEETMETAL SCREW
(1) PER VERTICAL FRAME LEG
(1) PER HORIZONTAL FRAME LEG
23/8 2 3/4"
MIN DIST

FOAM TAPE

ALUMINUM FULL VIEWV FRAME

ALUMINUM FULL VIEW FRAME

CONTINUQUS
WALL ANGLE

(2) 1/4° x 7/16,
SEMI TUBULAR
RIVITS OR (2) |
1/4"—20 TRACK \
BOLTS WITH NUTS™,
OR (2) .28" DIA
RESISTANCE SPOT
WELDS

STATIC PRESSURE RATINGS APPROVED SIZES

DESIGN PRESSURE(PSF): +20.2/—22.7 |MAX WIDTH: 16'-2

MAX HEIGHT: 24'—1"

IMPACT/CYCLIC RATED: NO

MAX SECTION HEIGHT: 241

8 7 |

TRACK CLP
R Ruacsarol
1/4-20 HEX NUT. 1/4-20 HEX NUT-
TRAGK TRAGK

THE DRAVINGS AND ALL OTHER INFDRMA!

\TIDN CONT/
N,]NVHI.E[I!]NPART,HAYNDTEGBPIEIIINMNWIER[R
INFORMATION IS [INTENDED TO

3/8"° SMPSON TITEN HD,
1—3/4' MII EMBED INTO
PSI_CON

AT EM:H HG.E OR PAR

UEU OF

AND PROPRIETARY PROPERTY.
ANYDNE VITHOUT THE PRIDR VRITTEN

12GA SCAB BRACKETS (OPTION.
© 12° SPACING SECURED TO WALL

IAL)

+ |/ ANGLE WTH 1/4—20 TRACK BOLT

AND 1/4—20 FLANGE NUT

WALL ANGLE FACING
INWARD

AT
EACH HOLE OR PAR OF HG.E Loclmous N
'WELDING

OF OVERHEAD DOOR CORPORATION AND ITS AFFILIATED

J_ C_ VOELKEL " mmmvmum m:m:nsu:mmm&mumw:rrmmmsmwgzw&:‘?ﬁﬁ.ﬁwn%w%m
° / 'r CLARK 1714721 %@/ﬁ#zsnavﬁ
'_%)'.-. 133174 -':gll ‘E'E":\r vive e —oos
1, O C eo .."Q/ [Rer v | TCLARK | 4/27/21 oA Tem3 =3
"‘6 S "E..oso “O\i- | 1
\\ IONAL 12 -

A DOt o



chris
Texas


		2021-05-03T10:31:14-0500
	John Christian Voelkel




